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Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any ten questions: 2x10=20
-] v 2o T wis ¢

1)  Translate the following sentence into a

standard proposition form:

A AP Sl S Ao 60 ifFere
A2
All except students are eligible for this post.
RERISIS G e e R

11)  Mention two rules of distribution.
=reIR viG o= @12 |

1i1) Reduce the following sentence to its logical

form and give the converse and obverse:

[Turn over]

Vi)

vii)

viii)

487/Phil

e T IR 7o 6w T

I o

G2 WIS Safow ¢ Rafew 359 ¢

There are no white elephants.
Al 2fe =2

What is the empty class?
WA FIF A 2

What is truth functional proposition? Give an

example.

FSTICHTHT o Bl 2 G0 SUIREel WIS |
What is validity?

(ST FICP AT 2

What is tautology?

FOMGJ FI<B] FICH ST ?
What is immediate inference?
S RWAIRY WFI P AT 2

What is meant by ‘class’ and ‘complementary

class’?
‘AT 8 AR @A FETCe (@RI 2

What is the negation of a self-contradictory

proposition?

956 F-REE AT g < 2
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X1)

Xii)

xiii)

Xiv)

XV)

Give the schematic representation of the

method of Difference.

TR “whed AF T o 716 |

If p>q is false then what will be the truth
value of p.q?

T p O q I = = p.q-9F TRED F 22
What is opposition of proposition?

IpeR [ezifee Fre

Write in one sentence the primary distinction
between deductive reasoning and inductive

reasoning.

SRR @ SAE e 36 2147y @F A @74 |
What is material obversion?

TGS [ I AT 2

Answer any four questions: 5%x4=20

@~ A AR Ted wie ¢

i)
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Test the validity of the following arguments
by using Venn Diagram:

cofbran e Rkl IfeeRn twe Rol
A2

a)  There are handsome men, but only man

is vile. So, it is false that nothing is both

vile and handsome.

[3] [Turn over]

iii)
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A SR g, [ S 2RFEEIE A1
& | AR, 9Bl L @, @ FC 72 @

15 @ i |
b) OAO-2
Use truth tables to characterize the following
statement forms as tautology, self-
contradictory or contingent:
TSP R Feae Aerecs oy,
o 7 Siefes of e 57 ¢

a) (p2q)=[(pva)=q]

b) [p:(q:p)]:[(q:q):~(r:r)]

Acknowledging only the existential import of
I and O propositions how much of the

traditional square of opposition will remain?

LG [ 93 O IR G Ol FIIE T
A=Ni51S 1Y TOCHIEIT FOpF SRIG AP 2

Write the merits and demerits of the method

of Agreement.
oY) oiaied ARl @ spfaafE @7¢ |

Transform, without taking the help of
conversion of A proposition, the following in
such a way that they may all have the same

subject and same predicate:
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A I SRS AR N e fHewa @3 avmefers
I ARG 5 TIO el 6T Sl G AL
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a) Nonon-PisS
b) Al Pisnon-S

c) SomePisS

d) Some non-P is not non-S

Reduce the following sentences into standard

form of categorical propositions:

e Al ol Siwias Waeers e

MAES 54 ¢

a)  None believes in fairies, but the children.
e 2l (FO2 A0S [ e 11|

b)  All educated are not liberal.
9 WifEFe jfe Srme! 7 |

c) Not everyone worth meeting is worth

having as a friend.

R ALY (A T A O AR I
@9« |

d) Reporters were not present.

Al Tolfze et |

e) Almost all successful men are self-

centred.

2 P T IS oo YA |
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3. Answer any two questions: 10x2=20

@I 7o 2ea Ted wie ¢

i)

iii)
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Use truth tables to determine the validity of

the following arguments:
STePRAR AR T feefnm tare! f[ew
¢
a)  (RS)v~R
~R/:. ~(RS)
b) (RB)>(LvS)
~(~L>~B)/. RvS

Explain and examine the method of

concomitant variation following J.S. Mill.

(@, @1, eI Sepiael (1 Ao Amie i<
CREREEEY

Test the validity of the following syllogism:
e SR tael e w9 ¢

a) Extremism is always a vice, because
extremism 1is another name for

fanaticism which is a vice by definition.

DI APTRI QI19l, S DINAZ] 267 O
TV S 1N, 1 B Feiae At |
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b)  Although he yells whenever he loses, he

wins now, so he won’t yell.

IS (ZCF (0 (1 (ORI, 93 [@RY
fercetz, (7 GBI =1 |

¢) AEE-4
d) EIO-2

Translate the following sentences into
propositions and then express them in
Boolean notations and represent them in Venn

Diagrams:

fferie s e s A weiefe 30 3T oy
o+l G (AD0q S 1 ¢

a)  Nothing is both sweet and bitter.
I g2 @o1est iR e (orel 77 |

b)  All non-poets are scientists.

e 19 & el |
¢) Mermaids do not exist.
ST G2 |
d) There are idle men.
ST e =R |

e) This flower is red.

92 e & |



